LESSON 12  INTEGRALS WITH INFINITE LIMITS OF INTEGRATION
Definition  If the function  f  is continuous on the closed interval  
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NOTE:  Recall that a definite integral exists if the integrand is continuous on the closed interval of integration.  Since the integrand  f  is continuous on the closed interval  
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Definition  If the function  f  is continuous on the closed interval  
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NOTE:  Recall that a definite integral exists if the integrand is continuous on the closed interval of integration.  Since the integrand  f  is continuous on the closed interval  
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The integrals  
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  in the definitions above are called improper integrals.  An improper integral is said to converge if the limit exists.  Otherwise, it is said to diverge.

Definition  If the function  f  is continuous on the real number line  
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NOTE:  The improper integral  
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Examples  Determine whether the following improper integrals converge or diverge.  If the integral converges, then give its value.
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Answer:  Diverges
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Answer:  Converges;  
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Answer:  Diverges
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Answer:  Converges; 
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